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16,871,629 12,810,973 4,060,656

5767 967 | 4.318.441| 1449506/ 14,4508 x 33,2442 x 128 x98/100 = 5,649,219

ogll® 14,4509 x 33,2442 x 128 x 2/100 = 115,290

EPLU= 115,290,0002 x 3/100 = 3,458

3 7790.860 | 5.984.153 | 1.806707|= & 71U 40,6702 x 15,9542 x 128 x 98/100 = 7,630,466
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55,496,000 | 48,973,000 6,523,000
4,000,000 3,800,000 200,000

51,496,000 | 45,173,000 6,323,000

49,695,000 43,861,000 5.834.000(° ol JlHota=xel & HE(Hel&+2H)
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o 078 ol=2tHBTL Al ¥ 24l
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= 094 ol+=2tHBTL AlE2iE ¥ 24|
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© (900) o3 & @ (910) 0I== Mg (911) D123 £ @ (01) 0I== ( )
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o | ar [MIE = of & & 01§| E °E" S Gl & = /I &
900
== 5,987,193 4,021,810 1,965,383
910
D|A:
Te 1,055,344 859,790 195,554
911
Ol==
1,055,344 859,790 195,554
01 _
157,344 ,000& = 157,344
oc=xHIEXZ 898,000,000& = 898,000
920
=R=
4,931,849 3,162,020 1,769,829
921
o=
4,931,849 3,162,020 1,769,829
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oa= 4,931,849 3,162,020 1,769,829 o= MAHAHLYLNHZ 4,931,849,000‘3J = 4,931,849




